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*

Hepdy

SANSKRIT
37ary: : ERIATH quIfT: - 80
RefRa @ - 3 g2 erBaT 37 - 80
Time allowed : 3 hours Maximum Marks : 80

52 1 [ P.T.O.


https://www.studydiscuss.in

Wus: & :
SECTION A :

ovs: 9 :
SECTION B :

oue: T :
SECTION C :

wue: Y :

SECTION D :

EENIE

Instructions :

IITSATI - TSI (3TafSars STTaie )

Unseen Reading Comprehension

TIATCHSh e, (TEHTeHS T )
Writing Skills

AITHSATHTIH (SIS SAThHTT)
Applied Grammar

gfed-Tasiey (afed-rEsaiea)

Reading Comprehension

(i) 3IC JF7I7 TedR: GUST: Gl /|
S IH-TTH IR GUEE |

The question paper has four sections.

(ii) FEH GUSH ITTUHeT IR UHIGHT T FHHT G |
Y% @S & IR U &) T8 T HH & o7 817 |

The answers to each section must be written at one place.

(iii)  FFTGEIT FITTAFTRY HTFTHT TGH1T |

JF7-TF & HJIR Jo7-G&IT 3797 &1 for@ &t |

Write the question number according to the question paper.

(iv) GV FoT IR G&paT AGHIT |
Y 3971 & I G 7 17T |

Answer all the questions in Sanskrit.
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us: —

SECTION - A
SATISA - ST EIY (SATSATIT - SAaSIE)

Unseen Reading Comprehension 10 AT

FTARGT, TT=BE TSN TSI, FEhel I |
FrfaRad 3Tg=ee i Tgeht feu T T o I H6hd | T |
Read the following passage and answer the given questions in Sanskrit.

BT T Fere sreffoedia: Th g AT SHgET AR W) d gE
HERIG, STFT=8- HheeH ga1 YSaT — Wl FeAE | a9 3T SR srefifaadtar sded |
T & T IS Ud JET: BellH g, dat o Sifaar 7 wiosaty | 31a: femem 3w
fIvhet samE KU 7 ° Ig: IFaH — T Ay 3at: STAHET JEmT el Qe |
HATTY STRIIAHTE, TN J&T07T BATH ST TIqehlct Siehl: WIey: — Sded™ 378q TauH
ST SHAUTH | T AT hared Tneffe=i 7 shaeam |
q3AT:

[ U9 |
Teh I H I ST |

Answer in one word. ax4=2
(i) Yo JA1 Hd: TS T ?
(i) ATV haed foh o Shaedq 7
(i) “T%: 3L %: qATIISG: 3T WIaT: 7
(iv) Ha: sy fodianeiss g fom ?
I YUlemeRARRd |
ot gt | 3T €T |
Answer in a complete sentence. 2x2=4
() T T formd gagomy s o w1 2
(i) T 5 fope srg=e 7
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[ Yeaideheus: 3faaq I faca fored |
few e foered § @ 3 3or ge fatfa |
Choose and write the appropriate answer from the given options. YVix 4=2
() ‘omiafd @ 3fd Sramee wqug fam 7
() I
@ s
(m &
(F) T |
(i) wrmEm’ o fob forerom 3 ey ?
(F) TR
@) fremag
(M I
(%) | |
(iii) ‘TG T fob qTIIeH 3 Y ?
() TR,
(@) Iy
(M T&H
(&) Far|
(iv) “Ig: s fob feretimae 3 wgiy 7
() Sifea:
(@) IhI:
(M Fa
(&) T |
IV. 378 FT=SGH Fd I Yeh Heapa forad |
36 TS o (7T Iuger Sfefeh Teepel  feffge |

Write the appropriate title for this passage in Sanskrit. 2

4
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wle: — 9
SECTION - B

TEATCAHHI, (TATHS - )
Writing Skills 15 g
Tt wfa forRaay o1a.93 neTvEeTes: T 41 fored |
Tt @t forg e fferiaa o= ot megr # fou 7o sregi <6t wgrrdar & qut Rt g fafau |

Complete the following letter, written to your friend, with the help of the words given in

the box and rewrite the same. Y%x10=5
[RERIELR
TR ot |
U (i) |
&9 99 v U | a9 Adarfehiaden i) 0 | @ 9 wlemeiomd i) |
IR, W@ (iv) TS | A YT WEgGH | (v) I e
(vi) | e femurdr wafd, qer 9em: SeAaE:, TS Waduies: Sesiiedr: 59
(viiy)  wieed | o fafimme: (vii) . T 53 3T TS | 9H g
& o(ix) e vEen alasf| | TR @ T SIS | TR e T
TS (x) |
T TfTgeat
fSrerere
AW

e, wicet:, g, TH-:, T, 3, T,
FrTerd, ey, ST |

5 [P.T.O.
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31Y: Y&d o guaT AR SEavTeaH gt 94 AT H%ehd for@d |
= feu 7T o= <1 i wep # fou e wreqi <At HERIaT § Ui §5hd el | i |

Describe the following picture in five Sanskrit sentences with the help of the words given
in the box below. 2x5=10

1Y, AUGAH, TEH, STeT, T, 9, J&:, Haal:, ffetean, s1em, iy,
3IgN, 3=, gafd, 799 |
JAYET/OR
HeETIEATSeHT HrareA fEfaiad favam srfiehea wafiy: despaared): Ty 1Rt ford |
T H fou T wreg <t e & fFefafed fav w uie gwhd awRi § s s fafau |

Write a paragraph in five Sanskrit sentences on the following topic with the help of the
words given in the box. 2x5=10

‘wWa=ar-feaq:’
REAL
ST, UIeR, SreehlfoTeh A==y, JEIgaRIE: , TSy,
TERIGHITER,, TS, TATH=, foerRirsm=T: , JTdreRv,
TSI TSI, SAETey, TSI, ey |
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Qug: — T
SECTION - C
ATIIHATHIH (T SATH)

Applied Grammar 25 I

FUfRgaaTRy Wifgauey A =g a1 el fored |
Trfefiaa are o t@ifera et # afr steren afufaese %t fafigu |

Write the underlined words of the following sentences after joining or disjoining

Sandhis. 1x4=4

(i) 3T ARHI 1 + 31: &: 3 ?
(i)  HQlgdl: HU: e |
(if) T T: Teh + B UIH ITEI |
(iv) T TAfT Foa |

FUfTRgaaTRy WrfgaueHT aur fourg a1 Jeafashedyr: famr foeq |
freferfiaa amait ® Taferd Ul s T 3reran fowrg fou Tu foeheut # @ e faiflaw |

Choose and write the correct compounded or expounded forms of the underlined

words in the following sentences. 1x4=4

() 37T TP o HEhaagN FHARIE: TS |
(i) Tgffam
(i) TgdETEA
(i) Tgafayad |
(@) heTfd 3 7 eeriead |
(i) THA
(i) 3+
(iii) Bd + 7 |
() Arar-Tet gorRr hetnyTeH TS |
() T =
(i) wra = s
(iii) T = el = |
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(F) Tag TR0 AIESE T A 1M |
(i)
(i) ®I=g feRe
(iii) 3TTEIH |

e forer |

Frrferfiaa STl i i TS % R S Y S A 9o w0 S I
Torhedi § § gt Teafa |

Write the underlined words of the following sentences after joining or disjoining

suffixes to the roots or words, selecting the correct answer from the options given
below : 1x4=4

(%) AU TAg 3T THAY 7 T + IS + T |
(i) sESEEY
(ii)  SrEeRTe,
(iii) A |

(@) AT ST 5ot = i |

() =9 +2Tq

(i) =9 + &
(i) =9 + 3T |
() AT Heiw Hgel e |
(i) Wed+
(i) HEM + =
(i) T&d +q |
(a) G S: Sleh TOWe J UTCAI |
(i) & +7q
(i) & + Fag
(iii) & + I |
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FrenfeIRad Hare wem Ve Ue: areuiad- el R 9 31 fored |

Ffeifad garg ! AW ¥ fou MU reg) i TERIAT ¥ Ao UiEdd i gU aegu

TaTE H: fetfey |

Fill in the following dialogue by choosing the right words as per rules of voice.1 x 3 =3
T — o areirR: TS waf 7

T - 3T, SR () ¥ |
et — fob feaer: sremues FoeRufa 7

37Meh: — 3T, (ii)

L THERId |

Tarereh: — fob @ 1T SO Serrt SR ?
BA: — 3, 7Y HEAT SO el (iii) |

enferiaafeT=aran fedeerm serieshemee: = |
Frenferad feerat & ferm wormi <t i reraiee wrsgi | IR |

Rewrite the daily routine using Sanskrit words in place of figures.

A

3T, fe R, dTe: |

(i) W YT 9Ta: 5.00 yHone s |

(i) 378 UTd: 8.30 R TS |

(iil) @ AT HEATR 2.00 ferner™mg SrTesid |
(iv) HH Seh: | 7.30 T8 A |

renferRaaarsrRry feremni aeEmed: 3fuq: srerde: i fored |
frefafiaa arerit ® far weri 6t gfd e # feu o 3o vel < gr i |

Yox 4=2

Fill in the blanks in the following sentences with appropriate indeclinable words

given in the box.

() Trwm Tt sy 2

(i) ¥E:®E:HEea:, fgagsad |
(iii) 9 ¥€ o Fow gehevm_ 3Thed |
(iv) el UUENE 37T |

A

3a%aq:, 3, 3=, gEIfa

9

1x4=4
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11.

52

FfTRgqaTRYy W@Tgauet 3REH 31 | 3G Ug Hened 3H: foreq |
frefafiaa arerit § W@iferd ug 3G 7 | 373G TS I TG ot H: farfau |

Correct the underlined incorrect words in the following sentences : 1x4=4
() g STforeh faeme™ T=sfd |

(i) TorH 378 Hel GeohT TGl TTesTH 7

(iii) forst: ymomef va: 7 T=sfd |

(iv) o wreprem e a: fed ?

wus: ¥
SECTION -D

ufea-Taaeay (Jfsd-TasieT)
Reading Comprehension 30

FUNTARGA T, T, AT & qiSea FEaTTAHH I Fhald for@d |

FrfeTiaa e, Fe 3TR 1A Sl Tgeht U T Je1 o 3T T%ehd § fAfa |

Read the following prose, poetry and drama passages and answer the given questions in
Sanskrit.

(31) T
TS 3 — WTeH, | WaHRY TR AT STTEd S, $eaiy | STfevadny —
e speafor 72
fay: 3am — afe war fia: qe1 = TR 9y g SSuIH, 39 HH ARRATET et
WA | T, Yo Tl Ao, — oiich e gehtH T | T, %% o, $e0, 3
IJreh: K1Y Ia: @ITq | 312raT wag A | 3fa fommd e sty — ot i 1 feRneRa
TEINT | 378 YaId TGIHT TSI |
AT
I UehUeH 30 |
Teh 3G H IR ST |
Answer in one word. 1x2=2
() T TG gohtHa” 3fd : TfE=aaq ?
(ii) TS 9 SFFTEN HgH T 7
I ofareH 3T |
ot gt | I €T |

Answer in a complete sentence. 2x1=2

fowr: T fopy SartaT ?

10
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I1I

(3) wE

Y fdeheds: Ifeaq I faan foad |
fou o foehedt # @ 3fua 3w g fotfau |
Choose and write the appropriate answer from the given options : % % 4 =2
(%) 3D AHAET oo feh feromyomy
(i) Ha:
YEREEL
(i) TggI |
(@) e 3f foramaew que Ty 7
() faw:
(i) =
(i) T |
(M) qa s fob foeimueH 313 Y& 7
() wed
(i) #|
(iii) ferw: |
(F) “TH ARIEAT S AW 3fel TeTmvIG, hell TR, ?
(i) T
(i) faum
(iii) B |

T2 f& #9: 07 | T gqagged |
TETE I8 7= SR ggseht ||

JRHT:

L

IL.

Tehued 3T |
T 216G H IR N |

Answer in one word. 1x2=2
(i) o FIEH 3T9H: Ggohl HYA ?

(i) = fopm Afeq 7

qufaTeRH I |

quiaTeRt H I T |

Answer in a complete sentence. 2x1=2

T Shigem Wafd 7

11 [ P.T.O.
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I1I

Y fdeheds: Ifeaq I faan foad |
fou Mo foeredt & @ 3fa 3w g fotfau |

Choose and write the appropriate answer from the given options. %2 x4 =2

()

(@)

()

(=)

(3)

vareh “SfaepfeT srd foh qafae wgwy ¢

(i) ==

(i) STy

(iti) GTHA |

TR 3fd TRATIER Hug fm ?

(i) P

(i) T

(i) 3789 |

‘3TEY’ 3f TSTHUG HE T, ?

(i) AP

(i) ST

(iii) & |

Ter e fop foretiadey 33 wgeH ?

() ™

(i) geHq

(i) T |

EICRINE

femiy: — 318 Tty aq arew: Qe wEiE: | 3R T wEyYHy
30 Y3 T | 37d: ITEUREE Ye: IEUE: |

AT — v | Sfoad e | emfadssrs: Rty gareay:
I | 37q: TRV | AT T TSGR T YaEfd |
fagen = @ wwEwE | SHmdE g ™ d.

TF | QST TG G T TG | YETEaU a3
TCRI hae Wehfd: UF 7 fafaen wee 9 yoga ewhia: A |
12
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IL.

II1.

TohUH 3L |

Th 91g | IR T |

Answer in one word. 1x2=2
(%) AT T i T2 Ta8= ¢

(@) o ThET: FEIYTH 35 Te¥ T ?

qufaTeRH I |
oot aTeRT | 3T T |
Answer in a complete sentence. 2x1=2
3T TCH: ITEUITAA: Fel: B ?
Jedehed s Ifaaq I faen foad |
feu e foenedi o @ 3fad ST gew faf |
Choose and write the appropriate answer from the given options. %2 x4 =2
(%) et 3f fopamaee shque fom 7
(i) femm:
(i) UeATreehr
(iii) ShIY: |
(@) feraer™ g9 foh Tataey 3 ey ?
() TG
(i) Temfs:
(iii) @a: |
() g seore fop foretmaey v e ?
(i) @i
(i) HET
(i) g |
(1) 3 HId T goI I S HeTHTG Hed TFHA 7
(i) ™
(i) SIS
(iii) 3TEUTETH |
13 [ P.T.O.
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12.  TETfgd-var e SR =HI Hod |

13.

52

T@Tfgd Ugl @ 3NER T 9 famior hifs |

Frame the questions on the basis of underlined words, 1x4=4
(i)  ToRE SWTEVT 6 Ueh =1g: ferfeam |

(i) Sferersr: R T v |

(iii) &&= ! Sraefife: sre: TESHTE: |

(iv) I e HIAH R weE |

HTd: Tgfaauert facn sranfaRadeetiergae 379 T |
A H B goferd ug ARt Feferiad Sl weilehi o 37 sl quf shifg |

Complete the prose order of the following twe shlokas by choosing the appropriate

words given in the box. v x 8§ =4
(i) SIeMIdied 3: TG I1eh ToRferetone |
HIThILETE o7 € Jod: T &I ¢ ||

FR: —F: () W (i) dm g ud (i) el &
(v g% @ gelt (vafd) |
(i) o e @ 9 ag dRd A e |
e anfd T e, srdme Hussiee ||
FaE: - fEweE: () w oW oA (i) ded | deEe (W)
(i) w;aGv)_ (um) FudeE wald |
A

ITETHHY, T, AT EH, AigH, FHuamam, Safamiennd, g%, Hmshagyad |

14
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52

srenferRaderemTT wgfad wie fasheter: e foraa |
frafefaa st o agfad wa faskedt # & g foafae |
Choose and write the correct gist of the following sentences from the given options.
1x4=4
(%) TR < Igd q9 3o |
(i) wEw
(ii) =Ry
(iii) STHIFM |
(@) YIS el < TEYT U 7T |
() #IgH F=
IEL
(ili) ¥ |
(1) GHT: GIe Tl T T Aerf |
(i) e
(i) uia:

(iii) wvE: |

(9) el qE gd: CoI: Wsh: SUfE: |
(i) =
(i) =
(iii) freaw |

15
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